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/*while X 3E&1 while test.c OAVRERE >/
#include<stdio.h>
INt main()
{ -
INt a;
a=1; /* xPID—EZELT EITIH-HEETRA>/
printf("XEXFIR ¥n");
while(a)
{

printf("aD{EIZOLLS}(BE) TI . ¥n");
printf("1(E) MhOo(@)Z A NLTT LY, ¥n");
scanf('%d",&a);
¥
printf("aDEAO() IZZRYELT=, ¥n”);
printf("RER#E T ¥n");
return O;




iR IRLZEIZTROHAIZIE (whileXX)

IW—Tho 3%xRAbELLY,

1. JL—ThHOR3%FBHET
RAE94(EE95),
2. WhileX BRI TIL—ThH 3%
OIZ#NHAE T 5,
3. whileXDiHRERZE
IW—THhH 3 < E¢AEE

ET D,
4. whileX D REXTHI &R
(AP FEIDERD) T,

IW—ThOUB3%F A D) AT B
(11459),




HATEEA

#define LOOPMAX 100

Int main()
{ - -
Nt i;
1=0;

/*IV—THo 5>/

/> IW—Tho 3D EE>/

while( i < LOOPMAX) /*&{&$IBr>/

1

i++; [*IL—TAIEZDAT) A R>/
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while(1)
{
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/* infty_loop.c #E[EJL—TEER(QAVNEER)
#include<stdio.h>

Int main()

1

printf("#&fE JL—7 EEREAIE ¥n");
while(1)

1

}

printf("*¥n");
printf("**¥n");
printf("***¥n");
printf("****¥n");
printf("*****¥n");
p rl ntf(' '******¥n ") ;

printf("EIZEITSNALY, ¥n™);
return O;

*/
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returnX
MainfA# T, returnXZE179 5.

wislyl 7L\75\‘f5lTTZo
(BELL<IX. EOEDEETEREA, )
****.C

mainfABADEZHh | TATSLELRTLT
OSIZALIEZERET,
return O; >
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/*

*/
/>

R B :yyyy/mm/dd
ERE  AFEXRED
FiEE T B0zBOXX
V—RXIT7AJL:mysqrt.c
E1TI7A )L :mysqrt
B —a— b EERAWTCTEAREROHSHTOT S L,
ELUEDREZE DFEHEMNEPS(1. Oe-5) kY /NSl EEIC
BT T 5, (#YIRLEIZHALOOPMAX(1000)E [ZELEE
[CEETI5.)
HEERERNDSIDT, -ImDIAVNAIA T3V B E,
AN BEAADSTIDDEREANT S, (IE. 0. ELVT NEA])
HAOANDEABENEROEHE THFET DLEE.
SEHBNICEDFERBZEZH DT S,
ATDEFIENEHTENESE,
ZEH NI —AyE—TFH DTS,

RDR—|Z#7< */




#include <stdio.h>
#Hinclude<math.h>

/*UBOEER>/
#define EPS (1.0e-5) /N E. IUREH >~/
#define LOOPMAX 1000 /* #YRL®D EFR{E*/
iInt main()
{
/* a'riylé E§ */
double input; /* ANSNEEH, =a— b+ EDWERE>/

double old_ x;
double new _x;
double sa;

iNnt kaisuu;

/> RAR— A5k

/* X DEDTHNDX/

/* BEXDEDTRANDE R/
/> FEZEDHEXHE>/
/8Y R LE >/

*/




/* ANiE*/
printf("EHRERKOETT . ¥n™);

printf (" EDXEHZ A DL TTF LY, ¥n™);
scanf("%lf",&Input);

/*ATEFTVI*>/
If(input ==0.0)
{ /*input=0.0DEE(E, BASHIZOMNFEAIR*/
printf("%6.2f MFEAHIRIL%6.2fTT, ¥n”,input,0.0);

return O;

¥

else iIf(input<0.0)

s 4

T /rinputh B O EE*/
printfC"EDHHLED T, EHDEARIIHYEEA, ¥n");
return -1;

¥

/> TNLBETIE. inputldIE D EH>/
/*ROR—D 2 Hw<*/
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[*=a— b EDRNEARE S/

old_x=input; /*=a—rEDMNEAEZINpUtiZERE>/
new_x=0.0;

sa=fabs(new_x-old Xx);

[=—=

kaisuu=0;
/*HEL) R LALER*/
while(sa > EPS)/*BSZMNEPS&KYKEL\EIREYIRT >/
{
printf("’x%d = %15.8f ¥n" kaisuu,old_x);/*& x>/
new_ x=(old_x+input/old_x)/2.0; /*#iib=X*/
sa=fabs(new_x-old_X); /*BEZE DAEE>/
/* RDWEYIRLDTI=HDIIE */
old _X=new_X;
kaisuu—+-+;
if(kaisuu>=LOOPMAX)
{ /7~ YRLEIHDLEZEZA-DTRT I SH*/
break;
¥
¥

/*RDN—2 <>/




/* e >/
/> I8/

printf("%06.2f MFEAHRIL%15.8fTT, ¥n”,input,new_x);

return O;
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$./mysqgrt
EHRZEKDHFET
[EDE#HZAALTTSY,
2.0
X0= 2.00000000
X1= 1.50000000
X2= 1.46666667
X3= 1.41421569
X4= 1.41421356
2.00DFHRIE

$

1.41421356T9,
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EZ17413
$./mysqrt
EHIREKOHET
IEDERHZAHNLTTFSY,
-1.0

HOBEDT, ZHOEAREIHYFEA,

$
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